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QUESTION 1

A client is in the discovery process for building a React native app, which is a single codebase that runs natively on iOS
and Android. The goal is to reduce development costs. The client wants to reduce content creation costs in the new
react Native app by reusing as much of the marketing content already publish in their AEM instance. 

What should the Architect recommend to meet this requirement? 

A. Experience Fragments 

B. OSGi Bundles 

C. Sling Resource Resolution 

D. Content Fragments 

Correct Answer: C 

 

QUESTION 2

During development the AEM Publisher server keeps crashing randomly. The deployment included a new static FAQ
component that was used in the websites Contact Us page. An Architect investigates to find the root cause for the
random failures, and notices the following parameters: 

1. 

The server slows down when requests are sent to the Contact us page 

2. 

The number of requests to the page were very few 

3. 

Heap dump shows a large number of instances of the FAQ component 

What is likely causing this issue? 

A. The page was not cached in the Dispatcher. 

B. The component triggers a traversal query. 

C. The JVM garbage collection is not running. 

D. The component has a cyclic dependency to itself 

Correct Answer: D 

 

 

QUESTION 3
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A client has an existing AEM site using components that proxy AEM WCM Core Components. The site uses simple
page authoring without referenced content, The client wants to create a new experience on another marketing channel.
The plan is to use as much of the existing page content as possible to avoid refactoring the current content and to
maintain consistency across channels. 

Which AEM capability should an Architect use to meet these requirements? 

A. Experience Fragments 

B. Content Fragments 

C. Assets API 

D. Sling Model Exporter 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 

A customer with an existing AEM implementation wants to enrich product pages with technical data coming from their
PIM system. The PIM system sits behind an API Management solution that publicly exposes the PIM API\\'s as RESTful
web services with basic authentication as the security mechanism. Data consistency with the PIM and secure access to
the APIs are key elements of the integration. 

How should the Architect set up the integration between AEM and the PIM? 

A. Integrate the AEM Publishers directly with the API Management solution 

B. Use a client-side integration with AJAX from the browser to the API Management 
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C. Import the technical data into the AEM Author and replicate to Publishers 

D. Convert the technical data to Content Fragments and expose using Content Services 

Correct Answer: A 

 

QUESTION 5

An enterprise client is on-boarding an AEM Desktop application to provide authors with the ability to load the AEM
repository virtually on the file system. The desktop application is unable to connect to the AEM Author, which has SSL
enabled. The intermediate certificate is installed on Apache. 

How should an Architect resolve this issue? 

A. Install the certificate chain to the keystore of the AEM authentication service user 

B. Install the Root certificate to the AEM truststore 

C. Install the certificate chain to the keystore of the AEM ssl-service user 

D. Install the certificate chain to the AEM truststore 

Correct Answer: B 

 

QUESTION 6

A large AEM enterprise site is implementing authentication and requires a true optimal load balancing across the site\\'s
multi AEM publish instances. Which approach should an Architect take to meet this requirement? 

A. Configure Sticky Connections 

B. Configure the Dispatcher to run with a Dedicated System Usei 

C. Enable Encapsulated Token Option 

D. Enable Round Robin processing in Dispatcher configuration 

Correct Answer: D 

 

QUESTION 7

A retail customer with an international presence and both in-store and online sales needs a new assets platform. The
customer decides to use Aassets. The customer\\'s sites will continue to run on their proprietary CMS for websites. The
customer wants to be able to scale the platform for spikes in user traffic such as on local sales or online marketing
campaigns. Under some circumstances, the customer also has a higher load of editors for a certain period of time.
Which architecture should an Architect use for this business case? 

A. An AEM Publish instance on Adobe Managed Services with auto scaling 

B. An AEM as a Cloud Service Sites with Dynamic Media 
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C. An AEM Assets setup on Adobe Managed Services with Cloud Manager 

D. An AEM as a Cloud Service Assets setup using the combined CDN for delivery 

Correct Answer: C 

 

 

QUESTION 8

An Architect needs to design a deployment process without downtime for end users. The system architecture contains
an AEM author, two AEM publishers, two publish Dispatchers, and a centrally managed load balancer. The publishers
serve some content that cannot be cached. 

Which two actions should the Architect take to meet these requirements? (Choose two.) 

A. Connect each publish Dispatcher to one AEM publish 

B. Use each publish Dispatcher to load-balance to both AEM publishers 

C. Deploy software packages by replicating them from author to publishers 

D. Configure the centrally managed load balancer to connect directly to the AEM publisher that is not being dedKyed to 

E. Deploy software package to AEM Publishers one by one 

Correct Answer: CD 

 

QUESTION 9

A financial sector client is using AEM 6.5 on premise. The creative team needs to create the content for the various
marketing campaigns that are scheduled. The client wants to use Experience Fragments (XF) to accelerate content
creation for marketing purposes. 

Which Data flow diagram should an Architect use to communicate requirements to the client network team? 
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A. OptionA 

B. OptionB 

C. OptionC 

D. OptionD 

Correct Answer: C 

 

 

QUESTION 10

A client is migrating the content from a legacy website to an existing AEM implementation. An Architect evaluates the
content of the legacy site and determine-that there are approximately 20.000 pages with a common structure, and a few
hundred pages that do not follow a pattern. The client wants to complete the migration as soon as possible. 

Which approach should the Architect recommend for the content migration? 

A. Migrate all common pages using the ETL procedure with multiple rounds 

B. Migrate all common pages using the ETL procedure and use manual authoring for the rest 

C. Use Site importer to import the content into AEM 

D. Recreate the entire content manually with a group of Content Authors 

Correct Answer: D 
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